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NB. PLEASE ACCEPT ANY OTHER APPROPRIATE ANSWER NOT MENTIONED IN THIS KEY.

I. COMPREHENSION (15 POINTS)

(While scoring comprehension, testees should not be penalised for spelling or grammatical mistakes)
A. True or false with justification (3 pts: 1pt for each correct and justified answer)
1. True : ...after failing to attend lectures.
2. False....she had been unable to cope with her course in modern languages/...

3. False : her father was delighted to have his daughter back at home/ We are happy she is home and we love her
so much/...

B. WH questions (3pts: 1 pt for each appropriate answer)
1. She was afraid they would be disappointed/ she was afraid to disappoint her parents/
She was ashamed to tell her family/...
2. Her university friends called them/...
3. He brother (did).

C. Sentence completion (3 pts: 1 pt for each appropriate completion)

I.........een.. , went to London.../spent a week wandering in London...
B ianisansnaens was a model/a good student

<er.o.. let her stay in her room/ didn’t realize she was still living as a student../..permitted his daughter to...
D. Word meaning (3 pts: 1 pt for each correct answer)

1: anxious 2: counselling 3: bear
E. Pronoun reference (3 pts: 1 pt for each correct answer)
1. them: everyone/her family 2. her: Miss Fox/ Samantha 3. it: being expelled

II. LANGUAGE (15 POINTS)
A. Blank Filling : (1.5 pts : 0.5 pt for each correct answer)

organisations - assistance - voluntary
B. Verb Tense: (3 pts: 1 pt for each correct answer)
was not/wasn’t - had - had already connected

C. Sentence rewriting: (3 pts: 1 pt for each correct answer)
1. Most of the fields in the Gharb region were flooded....
2. Betty told Susan not to forget to buy.../to remember to buy some cakes for the party/to buy....
3. If Amadou had had a good job, he would have stayed in France.

D. Word Form: (3pts: 1 pt each correct answer)

interesting -  illiteracy - development
E. Collocations ( 1.5 pts: 0.5 pt for each correct answer)
1: e developing countries 2: ¢ have access 3: b health care

F. Sentence Joining (3 pts : 1 pt for each correct answer)
1. Anass was waiting for his teacher so as to get his marks.
2. Jamila didn’t attend the meeting due to her son’s illness/ Due to her.........., Jamila didn’t...
3. Smoking is very bad; therefore, it should be forbidden in public places. (0.5 if not correctly punctuated.)

III. WRITING (10 POINTS) The following criteria should be taken into consideration
Scoring criteria Scores
Relevance of content to the task (3 pts)
Coherence and cohesion (2 pts)
Appropriateness of vocabulary ( 2pts)
Accuracy of grammar (2 pts)
Mechanics (1 pt)




